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4. This Test Booklet contains 100 items (questions). BEach item is printed both in Hindi and

English except for Questions relating to English Language. Comprehension which are in

English only. Each item comprises four responses (answers). You will select the response

which yvou want to mark on the Answer Sheet. In case you feel that there is more than

one correct response, mark the response which you consider the best. In any case, choose

ONLY ONE response for each item.

You have to mark all your responses ONLY on the separate Answer Sheet provided.

All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the

Test Booklet, you have to fill in some particulars in the Answer Sheet as per instructions

sent to you with your Admission Certificate.

8. After you have completed filling in all your responses on the Answer Sheet and the examination
has concluded, you should hand over to the Inviﬂlator only the Answer Sheel. You are
permitted to take away with you the Test Booklet

9, Sheets for rough work are appended in the Test Booklet at- the end.

10. Penalty for wrong Answers :
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(i) There are four alternatives for the answers to every question. For each question
for which a wrong answer has been given by the candidate, one third of the marks
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{iin, If a candidate gives more than one answer, it will be treated as a wrong answer
even if one of the given answer happen to be correct and there will be same penalty
as above for that question.

(iii) If a question is left blank i.e. no answer is given by the candidate, there will be
no penalty for that question.

11. In case of any discrepancy found in English and Hindi Version in this paper, the English
Version may be treated as correct and final
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Aptitude Test
Paper 11
Duration : 2 Hours]
Directions (Q. Nos. 1 to 8) :

[Marks : 200
showed me how to weave a basket

Read the passage carefully and
attempt Question Nos. 1 to 8 by
choosing the most appropriate
option :

1 worked with tribal children in
Chhattisgarh, in a single . teacher
school where a large hut was
partitioned with gunny bags into
five classes. It was naturally chaotic
and noisy. The teacher resorted to
the stick to maintain discipline. It
was impossible to do much inside the
classroom so I decided to take my
class—std. V students—outside.
Once outside, the students were
completely transformed. They were
like free birds, chattering, singing,
jumping and dancing. They led me
to a pond, showed me different types
of insects and weeds. They rattled
off different characteristics of each
insect, how and why they breed,
their changing habitat and what the
village folks do with them. I was
amazed at how much they knew. The
children were excellent at a catching
fish and made a fishing contraption
out of nothing. Some children
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out of the reeds nearby. They knew
exactly when the sal and palash
bloom, what part of a plant is edible,
what part of a tree is used for
stomach upsets, they recognized
different bird and animal calls and
that a profusion of a particular
insect meant that train is around the
corner. I became painfully aware of
my own ignorance.

However, the next day we were
confined to the classroom due to
rains. So I began with a lesson in
geography. To my dismay, the bright
active students who knew so much
about the contours of their local
geography the flora and fauna
around, were totally at a loss with
the textbook.

Students ..... asnas the Geography

(A) had complete control over
(B) were at a loss with
(C) were hostile to

(D) were indifferent to-
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showed me how to weave a basket .
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I worked with tribal children in
Chhattisgarh, in a single teacher
school where a large hut was
partitioned with gunny bags into
five classes, It was naturally chaotic
and noisy. The teacher resorted to
the stick to maintain discipline. It
was impossible to do much inside the
classroom so I decided to take my
class—std. V students—outside.
Onece outside, the students were
completely transformed. They were
like free birds, chattering, singing,
jumping and dancing. They led me
to a pond, showed me different types
of insects and weeds. They rattled
off different characteristics of each
insect, how and why they breed,
their changing habitat and what the
village folks do with them. I was
amazed at how much they knew. The
children were excellent at a catching
fish and made a fishing contraption
out of nothing. Some children
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out of the reeds nearby. They knew
exactly when the sal and palash
bloom, what part of a plant is edible,
what part of a tree is used for
stomach upsets, they recognized
different bird and animal calls and
that a profusion of a particular
insect meant that train is around the
corner. I became painfully aware of

my own ignorance.

However, the next day we were
confined to the classroom due to

rains. So I began with a lesson in

geography. To my dismay, the bright .
active students who knew so much
about the contours of their local
geography the flora and fauna
around, were fotally at a loss with
the textbook.

Students ........... the Geography
textbook..

{A) had complete control over
(B) were at a loss with
(C) were hostile to
(D) were indifferent to
P.T.O.
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At the practical knowledge of their
world the author ...............

(A) became highly jealous of the
students _

(B) became suspicious of their
inteiligence
(C) was simply amazed at their

knowledge

(D) could not react in any manner

The classrooms of the school were

(A) temporarily partitioned

(B) good enoﬁgh in number and
quite impressive
(C) three in number

(D) none of the above

The author found the atmosphere in -

the classrooms .............
(A) calm and congenial
(B) hostile and hot

(C) orderly and quiet

(D) raucous and disordered

AG : 16/P/11—A
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At the knowledge of the young

students, the author .......... _

(A) was jubilant at' his own
knowledge

(B) was not at all affected in any

manner about his own

knowledge

(C) became aware of his own

ignorance

(D) became aware of his scholar-
ship

The kind of knowledge that the

pupils had, can be called ............

(A) bookish

(B) worthless

(C) dri'vqn' by ignorance

(D) having practical use

The mutual relationship between the
teacher and the pupils was e
(A) led by suspicion

(B) mutually beneficial

(C) beneficial to the teacher

(D) beneficial to the students
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At the practical knowledge of their

world the author ...............

(A) became highly jealous of the

students

(B) became suspicious of their

intelligence

(C) was simply amazed at their

knowledge
(D) could not react in any manner

The classrooms of the school were

{A) temporarily partitioned

(B) good enough in number and

quite impressive
(C) three in number
(D) none of the above

The author found the atmosphere in

the classrooms .............
(A) calm and congenial
(B) hostile and hot

(C) orderly and quiet

(D) raucous and disordered
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At the knowledge of the young
students, the author ...........

(A) was jubilant at his own
knowledge

(B) was not at all affected in any

manner about his own

knowledge

(C) became aware of his own

ignorance

(D) became aware of his scholar-

ship

The kind of knowledge that the
pupils had, can be called ............

(A) bookish

(B) worthless

(C) driven .by ignorance
(D) having practical use

The mutual relationship between the
teacher and the pupils was ...............

(A) led by suspicion
(B) mutually beneficial
(C) beneficial to the teacher

(D) beneficial to the students
P.T.O.
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The difference in the state of mind
of the students outside the class and
inside it left the teacher ...........

(A) unhappy
(B) satisfied

(C) elated

(D) indifferent

Directions (Q. Nos. 9 to 15) :

Read the passage carefully and
attempt Question Nos. 9 to 15 by
choosing the most appropriate

option :

Reports say that 80 percent of the
people coming out of India’s colleges
are unemployable. As one who is in
contact with the young generation,
I would disagree only with the
figure. Interacting with the youth,

I can only say that a good 90 percent

are unemployable simply because
they are evasive and irresponsible.
Somewhere along the line, young
people have started to mistake bad
manners for confidence. They do not
want to do anything but make a lot

of money.
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It is not that they are useless : most -
speak good English and are
confident of themselves. They are
aware of the latest ring tones, movies
and jokes. But when one goes a little
beyond, they stare at me with dull
eyes. They want to earn a ‘lot of
money’, thanks to the media hype
and salary surveys published
regularly, but they do not have skills
that will help them earn that kind

of money.

Their degrees are suspect : ask them
a few questions on their graduation
subjects and most young people
flounder quickly. As for extra
reading, nobody reads anything of

consequence.

Nearly eighty percent people coming

out the colleges ..... s

~(A) do not have the capability to get

jobs
(B) will get jobs
(C) will not go into business

(D) none of the above
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The difference in the state of mind
of the students outside the class and
inside it left the teacher ...........

(A) unhappy
(B) satisfied
(C) elated

(D) indifferent

frEor(w. . 9| 15):
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Reports say that 80 percent of the
people coming out of India’s colleges
are unemployable. As one who is in
contact with the young generation,
1 would disagree only with the
figure. Interacting with the youth,
I can only say that a good 90 percent
are unemployable simply because
they are evasive and irresponsible.
Somewhere along the line, young
people have started to mistake bad
manners for confidence. They do not
want to do anything but make a lot

of money.
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It is not that they are useless : most
speak good English and are
confident of themselves. They are
aware of the latest ring tones, movies
and jokes. But when one goes a little
beyond, they stare at me with dull
eyes. They want to earn a ‘lot of
money’, thanks to the media hype
and salary surveys published
regularly, but they do not have skills
that will help them earn that kind

of money.

Their degrees are suspect : ask them
a few questions on their graduation

subjects and most young people

flounder quickly. As for extra

reading, nobody reads anything of

conseqguence.

Nearly eighty percent people coming
out the colleges .............

(A) do not have the capability to get
jobs

(B) will get jobs

(C) will not go into business

(D) none of the above

P.T.O.
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10.

11.

12.

According to author ninety percent

of the youngsters are unemployable
because they are .............

(A) evasive and intelligent
(B)
(C)
(D)

evasive but irresponsible
irresponsible and evasive

not lacking in responsibility and

are also wise

Most of them, according to the

(A) cannot speak good English
(B)

do not have a command over
English

(C) are not fluent in any foreign

language
(D) speak good English

Why do young people want to earn
a lot of money ?

(A)
(B)

Because they deserve it

high salaries

(C) Because of a kind of hysteria

about it. created by the media
(D)

Because-media does not support
it
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Because they are offered very

13.

14.

15.

-

The level of understanding of most
young people of their graduation

subjects is ..............
(A) up to the mark
(B) condemnable
(C) praiseworthy
(D) comprehensive

The author ............. reports regarding

employability of the graduates.
(A) does not agree with

(B) fully agrees with

(C) partially disaérees with
(D) is dismissive of

According to the author, our

(A) don’t do any extra readings
(B) dislike reading books
(C) are not capable of reading

(D) do not read useful books
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10. Acéording to author ninety percent | 13. The level of understanding of most

of the youngsters are unemployable young people of their graduation

because they are ............. : :
subjects is ...

(A) evasive and intelligent

(B) ‘evasive but irresponsible (A) up to the mark
(C) irresponsible and evasive - (B) condemnable

(D) not lacking in responsibility and (e
are also wise

praiseworthy

11. Most of them, according to the (D) comprehensive

author ... : 14. The author ............. reports regarding

(A) cannot speak good English émployability of the graduates.

(B) do not have a command over

English (A) (.k)es not agree with
(C) are not fluent in any foreign (B) fully agrees with
language

(D) speak good English

(C). partially disagrees with
12. Why do young people want to earn (D) is dismissive of

a lot of money ? 15, According ‘to the author, our

(A) Because they deserve it

(B) Because they are offered very

high salaries (A) don’t do any extra readings

(C) Because of a kind of hysteria (B) dislike reading books

about it created by the media !
(C) are not capable of reading

(D) Because media does not support ;
it (D) do not read useful books

AG : 16/P/T1—A
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Directions (Q. Nos. 16 to 30) :

16.

17.

18.

19,

Fill in the blanks with the
correct option :

If you had worked hard, you
passed.

(A) would have
(B) had
(C) could

(D) none of the above

rich, 1 would suppor.'t
your fantastic ventures.

(A) am

(B) had been
(C) was

(D) were

She needs .............. time to finish the
task.

(A)
(B)
(C)
(D)

Carrier pigeons to have been
used by early humans for
communieation.

(A) are said
(B) heard
(C) thought

(D) were made

---------------

minimum
more
much

most

...........

AG : 16/P/1I1—A
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20.

21.

22.

23.

For a long time the earth .......... to
be flat.

(A) is known
(B) considered
(C) was p;)pular
(D) was believed

You have ............ it to believe it.
(A) to meet

(B) known

(C) to see

(D) had R

‘What a nuisance ! Now I'll have to
.......... again,’ he exclaimed.
(A) twice

(B) all over

(C) again and

(D) willy-nilly

cccccc

My father has been very ill
last month.

(A) for

(B) from
(C) since

(I in
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AT (W, . 16 | 30) :

16.

s i

18.

19.

wit famear & fraa zeomar =t gid
i -

If you had worked hard, you
passed,

(A) would have

(B) had

(C) could

(D) none of the above

rich, I would support
your fantastic ventures.

(A) am

(B) had been
(C) was

(D) were

She needs .............. time to finish the
task.

(A)
(B)
(C)
(D)

Carrier pigeons ........... to have been
used by early humans for
communication.

(A) are said
(B) heard
(C) thought

...............

minimum
more
much

most

(D) were made
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20.

it B

22.

23.

For a long time the earth'..........
be flat.

(A) is known

(B) considered

(C) was popular

(D) was believed

You have ........... it to believe it.
(A) to meet

(B) known

(C) to see

(D) had

“‘What a nuisance ! Now I'll have to
.......... again,” he exclaimed.
(A) twice

(B) all over

(C) again and

(D) willy-nilly

My father has been very ill

last month.
(A) for
(B) from
(C) since
(D) in
P.T.0.
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24. How ........... I get from here to the 27. Gentlemen, let’s arrive ..... s &
conclusion.
railway station ?
(A) on
(A) do (B) over
(B) far (C) at
: (D) around
(C) must
28. I brought my papers, but nobody
oagomy ¢ o L them.
25. Uneasy lies the head that ........... the () has been thers to-verify
(B) bothers about
crown.
(C) desires to check
tri
o (D) cared to see
(B) puts on 29, You....:ii come for the interview if

yvou don’t get a call,
(C) chooses .
“(A) will not

(D) wears (B) ought not
26.- TEHey uvadseanin please let me (C) needn’t
know. (D) daren’t
80: i are all your so called friends
(A) refuse 4
now
(B) refused (A) Who
(C) would refuse (B) Which
(C) How
(D) can refuse
= (D) Where

AG : 16/P11—A 12
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24, How ........... I get from here to the

railway station ?
(A) do

(B) far

(C) must

(D) soon

25. Uneasy lies the head that ........... the

crown.

(A) tries
(B) puts on
(C) chooses
(D) wears

26. It they wuusswsssis please let me

(A) refuse
(B) refused
(C) would refuse

(D) can refuse

AG : 16/P/11—-A
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27.

28.

29.

30.

Gentlemen, let’'s arrive ........... a

conclusion.
(A) on

(B) over
(C) at

(D) around

I brought my papers, but nobody

(A) has been there to verify
(B) bothers about

(C) desires to check

(D) cared to see

2 (1) SRR come for the interview if

you don't get a call,
(A) will not

(B) ought not

(C) needn’t

(D) daren’t |

.......... are all your so called friends

(A) Who
(B) Which
{(C) How

(D) Where
P.T.O.
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31.

32.

How many numbers between 300
and 1000 are divisible by 7 and 8
both 7

(A) 8
(B 9
(C) 12
(D) 17

What is the sum of the following

series 7

33.

AG : 16/P/11—A

-----------

(D) =

Aditya travelled a distance of 80 km
in 12 hours. He covered a part of
the distance on a bicycle at the rate
of 6 kemm/hour and a part on a scooter
at the rate of 14 km/hour. How
much distance did he travel on
bicycle ?

(A) 66 km
(B) 56 km
(C) 46 km
(D) 76 km

DOMLOADED FROM : WAW | ASEXAMPORTAL. CQOV
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34.

35.

Ram, Abdul and Kiran start walking

together and their steps measure

42 cm, 45 c¢m and 40 cm
respectively. What is the minimum
distance each should walk so that
each can cover the same distance in

complete steps ?
(A) 20 m 10 em
(B) 25 m 20 em
(C) 22 m 20 em
M) 21 m 10 cm

Three years ago, the average age of
a family of 5 members was 17 years,
A baby having been born, the
average age of family is the same
today. What is the age of the
baby ?

(A) 1 year
(B) 1.5 years
(C) 2 years

(D) 2.5 vears
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(D) 17 B aife A I8 FEn @ Q-9 Wi A
32. faeifafaa goft =1 s =0 T ? a4 W OHEH 7
I T PRER. SRV (A) 20 # 10 Hft
1.2 23 34 nin + 1)
(A) 0 (B) 25 #t 20 I
®) (©) 22 i 20 Fdt
©3 ) 21 10 T
(D) oo
85. @ ad ugs 5 =afed e &R
33, snfees 7 80 fah = 0 12 w02 § s
| 38 g0 =1 %o feem 3w 6 el =1 ofma =g 17 79 ) UF T2 &
ufq gvz =) 9@ | o anfEs W = F @E TER @ A" A A=
faar qen us femm 14 fefirauz &t ‘ﬁmﬁr%laﬁmaﬁﬁmw
e F Whet 1 35 AEfEe e - -
ERa i O 5
(A) 66 Fart (A) 1 7
(B) 56 T+l (B) 1.5 =4
(C) 46 f (C) 2 =d
(D) 76 T a5 g
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36. If in an examination, 63% of the

37.

38.

candidates passed in English, 65%
in Mathematics and 27% failed in
both subjects, what is the pass
percentage ?

(A) 45%
(B) 37%
(C) 35%
(D) 55%

A certain number of books were
purchased for Rs. 300. Five more
books could have been purchased in
the same amount, if each book was
cheaper by Rs. 10. The total number
of books purchased are :

(A) 8
(B) 10
(C) 12
(D) 6

If 3 men or 6 women can do a piece
of work in 16 days, in how many
days can 12 men and 8 women do
the same piece of work ?

(A) 3 days
(B) 4 days
(C) 7 days
(D) 8 days

AG : 16/PNTI—A

DOMLOADED FROM : WAW | ASEXAMPORTAL. CQOV

16

39.

40.

41.

In an army camp, 45 days food is
available for 50 soldiers, then how
many days will this food sufficient
for 75 soldiers ?

(A) 25 days
(B) 30 days
(C) 35 days
(D) 40 days

Deepak purchased 25 tables for

Rs. 12,500 and recovered the cost by
selling 14 tables. What is the gain

percentage 7
(A) 30%
(B) 78.5%
(C) 50.5%
(D) 56%

Ram and Mohan can finish a piece
of work in 18 days, Mohan and
Abdul in 24 days, and Ram and
Abdul in 36 days. In what time
can they finish it all working
together ?

(A) 12 days
(B) 16 days
(C) 18 days
(D) 20 days
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36.

37.

38.

ofz uw witar §  63% wedni st
# 3ol gg, 65% oW # IRl g 3
27% ar fagdl # Fga ge, @ w/A
fraa wiawe wfedvit s« g 7

(A) 45%
(B) 37%
(C) 35%
(D) 55%

wo A 300 T92 # @iSt wET | $EA
# sudi § 5 3w fead @iEt s gl
off afz wors feam &1 ®ma 10 99
FH G| ma e feadE w0
i ?

(A) 8
(B) 10
(C) 12
(D) 6

7t 3 7P sgE 6 ol U FE F
16 fodl & =7 wwa ¥, @ 12 T¥9 3R
8 foxal oot =m =1 faan fofi & W
TqFa & 7

(A) 3 T
(B) 4 f&3
() 7 &=
D) 8 &=
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39.

40.

41.

wh Afw e 8, 50 JFw & fag
45 Tt =1 v Suerea ¥ 2R A
1 dE 75 8 9y, @ 37 e e
&7 =&m ?

(A) 25 &=
(B) 30 f&=
(C) 35 fa=
(D) 40 &=

9w 3 26 B9 12,500 T3 F @l )
IGF @ qFd |/ 14 S R AA
m_mmmnmumuﬁmw
T2

(A) 30%
(B) 78.5%
(C) 50.5%
(D) 56%

& dWes v %™ w18 & O,
Hreq 3i g 24 &5 A, aw w9 AR
e 36 fedi # & wwa €1 A @
fermt ot =9 %) feas &= 8 5 5=a
¥ 2

(A) 12 f&=

(B) 16 f&=

(C) 18 &=

(D) 20 &=
P.T.O;
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42,

43.

44,

If Nishant walks at 5 kmv/hour, he
misses his bus by 3 minutes, and if
he walks at 6 knwvhour, he reaches
the bus stop 3 minutes too early.
How far is the bus stop from his
place ? ?

(A) 2 km

(B) 4 km

(C) 3 km

(D) 5 km

A table cover of size 3.5 m x 1.5 m
is spread on a table. If 25 ¢m table
cover is hanging all round the table,
then what is the cost of polishing
the top of the table at Rs. 50 per

m? ?

(A) Rs. 100
(B) Rs. 150
(C) Rs. 200
(D) Rs. 250

30 books are -placed at random in
a shelf. What is the probability that
a particular pair of books are never
together ?

1

15

29

30

14

15

(D) 0

(A)

(B)

(C)

AG : 16/P/TT—A
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45.

47.

Out of five Mathematicians and six
economists a committee consisting of
three Mathematicians and two
economists is to be formed. How
many different committees can

be formed if two particular

Mathematicians must be on the
committee ?

(A) 30 ways
(B) 35 ways
(C) 40 ways
(D) 45 ways

Which of the following equalities is
not correct ?

(A) (A-C)n(B-C)=
: (AmnB)-C
(B) A-B=AnNnB
(C) (A-B)uB=A iff Bc A
(D) Am(BuC);(AnB)
(A NC)

If the lengths of the diagonal of a
kite is 16 cm and 18 cm respectively,
then what is the area of the kite ?

(A) 72 em?
(B) 36 ¢m®
(C) 144 cm?
(D) 34 em?®
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42. #fe,fayma 5 & wfa 52 =t 9@ ¥

43.

e ¥, 9 SEw 99 36 JgEd | 3
fe geat 92 =t ¥ afy = 6 T
wfd =2 # A | we ¥ @ Aw 9w
72t A 3 fire vl wda s ¥ T
W R Y =M e o R ?
(A) 2 et

(B) 4 et

(C) 3 femsit

(D) 5 &+

3.5 T x 1.5 # & R H AN
T e 7 fam W fF A & a9
ST 25 [t +eF W ¥ 50 T Wi
1 Hizr &t 21 | 7S W1 I 51 Uifaw

w0 & fron @d s 2

(A) 100 93
(B) 150 #94
(C) 200 =93
(D) 250 %99

30 fard s drew H ggsom W
%1 2 ot 7 fraEl & wy-mg 3 29
H wgwar e wrft 2

(A)

(B)

= 8|8 &~

(C) 15

(D) 0

AG : 16/P/TI—A
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45.

46.

47.

wta wifresl i o sefenford # & 9
nfores 3R 9 srdenfedl #t o wfafa
1 MEA fewen = #1 w@ feedt fias-
fiy= winfoal o€ =0 wdt § 9 €
¥ ge v e wfEfa 4 owmibe
FA Afad B ?

(A) 30
(B) 35
(C) 40
(D) 45
fre | A St waEa w6 AW E 2
(A) (A-C)rn(B-C)=
. (AnB)-C
(B A-B=AnPB

(C) (A-B)uB=A 3% 3ir Ham
It Bc A

M. An(BuCi=(AnB)
‘ (A NCQC)

Iz UF UGN = faewvi ) dE
16 |4t 3 18 At B, O =9 UG
g feaw 2rm 2

(A) 72 a7 Tt
(B) 36 =1 [
(C) 144 =i |4t

(D) 34 =71 J4 P.T.O.
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48,

49,

The perimeters of two similar
triangles A PQR and A EFG are
39 em and 26 cm respectively. If
EF = 15 cm, then what is the

measure of PQ 7

(A) 19.5 em

(B) 22.5 em

(C) 25 em

(D) 26 em

If average of a, b, c.is M and
ab + be + ca = (), then average of
a?, b2, ¢* will be :

(A) M?

(B) 4M?

(C) 3M*?

(D) 5M>

Anand buys a house and gives for
it 20 times the annual rent. What
rate of interest does he get for his
money ?

(A) 4%

(B) 5%

(C) 7%

(D) 8%

AG : 16/P/11—A
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52.

51. A case of sexual harassment against

one of your staffs came to you. Media
people approach you to tell them
about the case. As a head of the
office, you will :

(A) disclose the details to media

(B)

ask them to come on anether

day

(C) explain them that the case was
under investigation and you

could not divulge the details

()

consult your superior

In a university, you appeared for a
position in teaching. You have not
performed well but your friend with '
low marks at masters’ level got

appointed. Then :

(A) You will get angry with the

university

You will file an RTI to know the
mmjks awarded in the interview

(B)

(C) You will fight with your friend

(D) You will prepare well for the
next interview by analyzing

what went wrong
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48.

49.

i‘l;l'qﬁtﬂﬁlgﬁﬁAPQRﬁl‘(AEFG
% uftarg www: 39 TE 20T 26 I
afz EF = 15 ¥4 B, @ PQ %1 AN
TN B ? |

(A) 19.5 FHl
(B) 22.5 gt
(C) 25 ¥+
(D) 26 #H

g a, b, ¢ F FHa M B AWM ab +
be + ca = 0 B, A a?, b2, ¢2 F1 irEw
0 B ?

(A) M?
(B) 4M?

(C) 3M2

_ (D) 5M2

50.

2 U 91 Eiedl ¢ Toga! wmivd 39
T W e aret arern fFmuE = 20
T %1 30 3 faw | e w m e
wm 2

(A) 4%
(B) 5%
(C) 7%

(D) 8%

AG : 16/P/TT—A
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© HF-TIgT 1 HIHE SIS 2§ | Hifsa

52.

#AUs FAEE & FHH FH99 & faams

® @M oenTh WE W mea % oan #
TaT 3 B wElem & sy & oA
;Y

(A) Ff 3uersy SEErl HWifsg w5 2
el

(B) ¥ 3= et fe o & Form =

(C) & wan fa amer +i 9irg = W
% 3 a9 =g faum A @ 7w
THa

(D) =93 3== sAfywifct 4 g &

o U favafaaeg ¥ fas & R
W et & fam mareer e g wwE
Fe weEla w9 fean Afsa sd
WeER § T uw frm @, s
M.Sc..ﬁ FH e &, I B T
= :

(A) =1 favafaae A FJ0S & SmEn

(B) I g9 & Afesdr & wmgm
TR # f7E 37 wHa & ferg
|

(C) I HT fry F oz w8

(D) = fgzd srva #1 faveem %@
TU TS WIGERR W GAE S

P.T.O.
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53. You are the Principal of a college

and one should complete 18 years
of age to gét admission in your
college. The son of the college
chairman has completed 17 years 11
months. In this case :

(A) you will admit him in the
college

(B) you will ask the chairman to
take back his son’s application

(C) you will reject his application
for admission as the rule applies
to all {

(D) edit the age as 18 and admit
him :

If you are a paper setter for a

competitive examination and your

friend’s son is appearing for the same

examination, then :

(A) you will suggest him books he
should study '

(B} you will give him important
questions

(C) you will keep the examination
work completely confidential

(D) you will give him all the

questions you have set

AG : 16/P11—A
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55. You want to register a lar;d deed,
a subordinate of the regi.;,trar calls
you and asks unnecessary questions
about the land, implying a bribe is
needed. In such a case, you will :

(A) give brtbe and get the

- registration done
(B) ignore him |
(C) go dand register on another day
(D) complain to the registrar

56. You are the manager of a factory
which witnesses an accidental death
a worker one day. Being the

manager, you should : ;

(A) ask the other workers and staff
of the factory to keep quiet over

the issue

(B) offer big compensation to the
family of the worker to keep
their mouth shut

(C) immediately call the police to
initiate a probe and take care
of the law and order of the
factory

(D) consult your seniors and wait

for their response
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53. m@mﬁmﬁm%tﬁ?zﬁa@l

& fau o =1 =gAom 3y 18 =4 #F

wIfeu | HEfaaeE & S90E & 42 &1

3 17 949 11 Wig ') @ A .

(A) 7 =& wfege T <

(B) 39 FAFLAT & 394 92 FH1 A
g R F SO w4

(C) =1 =ifEe it svsf s = &0
Fiife frm was fau 99 29 2

(D) Ikt 21g 18 99 famn =t aifEen
23

. #fz v um wfadri gian & 9vEads

o A @ E A o uw e w

1 S wan # we wleE g, @@

(A) =M 3 & 2 %1 HAETIA FH &
for el w1 g

(B)mﬁa%%ﬁﬁm@m
=

(C) = witen wiewm = gofa: Mo
T

(D) ¥ v fa= & 42 1 9 9y
Z N W e 8 faR ¥
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55.

56.

AN UE YW w1 FAE O Wed §
g SRR % UE WEEd g1 S

| HEEY AEYEE YA Y@ WA € o R

figaa =1 =1 =1 39 T @ F W
feurfg 6 amg

(A) frvma & a9 &AM H0 #F
(B) 39 =afFa +1 9wl 90 @ 78 o
(C) = =t = foru fanedt o fam sl
(D) fogr # FEF forwrm w0

A UH FAE & WA © a9 Uh

fe uw wogr w wE gHen H g A

T e w) RfEEa # o

(A) TET Huft T & FEHAE 3
HEEA W 39 U @l =9l
| T wO

(B) A% & UReHl 1 Uh a2 JIE
&1 Al Fh I A HE 9w @A
e

(C) %0 gferm =) gadn ais "
=1 w@"g B W AN FEel ° &
ae A W@ '

(D) 2193 Ffredl | wemg /i 30 371
Har|a A FH AN ROl

P.T.O.
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b7.

58.

AG

During a movie show, a wire starts
showing sparks in the cinema hall.
You are the manager of the cinema
hall. In such a situation, you will
first :

(A) call the fire brigade
(B)
(C)

call the police

ask the audience to calm down
and not cause stampede

(D) switch off the mains and ask
security to open the emergency

exit gates immediately

A hijacked plane had to have an
emergency landing at an airport.
There are more than 300 passengers
in the plane whose lives are at risk.
Being the air traffic controller, you
will :
(A) ask for the demands of the
hijackers and convey thexr
demands to your seniors

(B) go and try to meet the
passengers to console them

(C) wait for hijacker’s next move

(D) try to make sure that the plane
does not take off that airport to
enter another country

: 16/P/TT—A
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59.

(6]

A criminal murdered a man’s wife
and two children brutally and hence
ruined his entire life. The apex court
counted the crime as the rarest of
the rare case and sentenced capital
punishment for the accused. The
President of the nation received a
mercy petition from the convict with
a report that €aid that the convict,
in past couple of years had shown
good morals and signs of sincerity.
Still the President retained the
capital punishment. What do you
think the reason could have been to
retain the punishment ?
(A) The conviction was given by the
apex court and it had to be
retained
Showing too much mercy is not
good for a President
One of the objectives of a
punishment is to cater to the
feeling of revenge of the victim
The justice system should keep
on delivering death penalties to
‘fear the criminals .
USA has a policy of not entertaining
demands of abductors. You are the
President of the USA and this time
militants have abducted a close
relative of the defence minister,
What shall you be doing ?
(A) Negotiate this time with
abductors
(B) Ask your minister to resign
(C) Take a referendum from the
citizens of the state
Stick to the policy of the state
as in long-run. This discourages
anti-social elements to involve
in abduction-ransom business

(B)

(D)

(1)
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57.

58.

/
uF feew & weiv & dRA feam 2|

H ww an o fami e o £
gfs @ 39 foaw e & wavs §, @
mmnﬁ‘wm‘iﬂ ?

(A) siffemas 2@ =) FaE

" (B) Wfem w1 e

(C) el & = T8 31 WEE 9 HaE
& FLUE F

(D) ﬁa@hmg@amézaﬁ_iﬁam
[} SAYEETE FeTd gR e 3

&= anorg =rvil | U 3yRa faus

v famrge w3 T ) fame A |

#3 300 Il %1 S @=e d 1A
e FEEE @R & T, o9

(A) HAqgaisdl ST "I Ta HA SR FHA
© aftes sfuwfdl ®1 gl w0

(B) uﬁﬁ%ﬁmﬁmﬁm
v w

(C) 319zaisil F S FEH FI WarEn

gy

(D) == giafyga &3 %1 ya| w01 %
faara 38 famrTes § 3% ot
29 H A wen 9
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59.

U YT I US =g U F o Feal
=1 fordw wen s &1 ood sw = am
Sita aEte 8 T T e A 5
Y it fare | «of fawa =t Soft § =)
BU WRUE Wl HON HAF | Teguid & Wd
9 gafoa =t g aifas @ e @y

o T ot derrs 4t 6 foed S adl |

IR 1 - wga S o1 | gt
3 fir i ggEvs = FEE W@ THH
1 asig W a2

(A) TEEE F1 W9 Iw9ad TEEd 3
gt o gafag 3@ 7@ agen s

S

(B) =1gq w1 ZAE 8 ez 1 9
TE W

(C) =98 1 UH 3gyq difga d w9 @
Fed F yEm AR R A e dm e

(D) =918 FEEY] 1 GgEUE 2d T
=ifen wife sl § 99 % @

FURT. § FATEOERAS F1 AT w g0

F ) i A AT S T 39

® wezaf ¥ @i 39 @R sl A

18 B U frwe Tl w1 s

=1 o ¥ soe F= & =g ?

(A) 39 IR AYEUEHAIS I a@a HJH
o ey

(B) 3rwa it @ i 23 & fao @0

(C) v va Hus ¥ wen &

(D) 29 =t G %1 wes & F=ifE
w Hifa [ Fmmfe Tl S 3rgEm
va frddt =1 ad® s7E @
Tareqea far smar ¥

P.T.O.
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61.

63.

Assertiveness means |

(A) Expressing your thoughts,
" emotions, beliefs and opinions
in an honest and appropriate

way

(B) Being correct according to

oneself

(C)

Being correct according to

others
(D) None of the above

When an organization thinks its
audience will be interested in what
they have to say or willing to

coopex:ate. it gsually opts for :

(A) Indirect approach

(B) Neutral approach

(C) Direct approach

(D) Modern approach

Noise in communication deals with :
(A) Complicated Jargon

(B) Inattention

(C) Disinterest

(D) All of the above

AG : 16/P/11—A

DOMNLOADED FROM : WAW | ASEXAMPORTAL. CQOV

26

64. ‘A listener is concentrating on the

appearance and delivery style of thg
speaker instead of the subject. In
this ca.;e. the barrier to listening
is

(A) Jumping to conclusions

(B) Pre-judging subject

(C) Wrong focus

(D) Gathering only facts

Leadership roles first emerge in
which of the following kinds of

communication ?

(A) Interpersonal communication

(B} Small group communication

(C) Face-to-face public communi-

cation

(D) Media-like cell phones and

instant messenger
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61.

62.

AG

wEeas & w4 ¥

(A) a1 faand, seensd, favami it
4 ) % $HFER AR sfEa ais

| =Had Hl
(B)wﬁa}ma@amt
(C) Tl & FFER W B W ¥
D) TodE A @
m@@m’m%hmw
A Em wel # A T R TeEE R

Y= Te9T WeAm @ fou dAam ¥ @ o7

¥ U

(A) FIwAaw gfeswm
(B) 729 gieasm

(C) v gfeam
(D) 3myf gl
o H 7N %1 Aaed ¥
(A) sifesr yregemTe .
(B) - FETE A SHEEE

(C) wyw wura g Al fEeeed @

(D) 39 gt
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64.

65.

o T AN gE E A S B

W eI AR F T ¥ 3 SEn

%Hﬁmgﬂ%ﬁaﬁnmmm

%l@ﬂa%

(A) mﬁma@mmm@ﬁﬁm‘ﬁ
FipT

(B) qatas =1 fawd

(C) e BEEE

(D) Fae aHA H THIA BN

g w1 feewd ged ved 7 W
& wan § | frad ¥

(A)urfmﬁai.ziana?:m
(B) 912 e # R & g0

(C) FHEA-EA §9 % 3[

(D) T F dEEa B e aeed

w29 & B

P.T.O.
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66. ‘Which of the following is an example

67.

of mediated communication ?

(A) Students work on a class

assignment together

(B) Two friends talking with one

"~ another

(C) A newsreader delivers the
primétime report on the eight

o’clock news
(D) All of the above

The physical objects surrounding a
person, that indicate to others a
person’s personal and social beliefs

and habits is called :
(A) Phonemes

(B) Artifacts

(C) Syntax

(D) All of the above

AG : 16/P/II—A
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68.

69,

70.

Another name for critigal'lisbeni;ig
18 : '

(A) Therapeutic Listening

(B) Discriminative Listening

(C) Empathetic Listening

.(D) Evaluative Listening

studies the ways in which

context contributes to meaning.
(A) Pragmatics

(B) Syntax

(C) Semantics

(D) None of the above

Dyadic communication is also known

. as ?

(A) Mass Communication
(B) Interpersonal Communication
(C) Virtual Communication

(D) All of the above
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66 fre # @ meEegW Suw F U E | 68, FEEyW A # few ot am | s
g.' Wi % 7

(A) ITANHE  GAAI
(B) “gwraygel ga
(C) gergfaqel H

(D) T wE F e g

(A) % 71 % BE H1 U G T FH

H TH WY HE
(B) 9& &1 fix emvm § @@ &a ¥

(C) 1§ & JHNER 9o &84 994 Ud

69, Y 39 T H1 ST FLa/H
wat e R % ford el & w1 ® AeE AW ¥
67, TS wAfHd ® HWUH B FEqd S gEU (B) &= &A1
1 39 =faa H1 et ok grnfeer favamt . (C) wr=Y
@R aEdl ) WAl € W osHEd wl (D) swdaa # | 1§ @
& e ¥ 70. g™ (Dyadic) 91 ®i fr=1 § § &9
: ?
(A) il ®q H ot s s ¥
- (A) 99 HuR a1 FrEfew F91
(B) wemafadl
(B) & d@ER
(C) I = - -
(C) #m9rEt (Virtual) 991
) S9gE i
v (D) 39daa |4
AG : 16/P/11—A 29 P.T.O.
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71.

72.

73.

What is the value of X in the
matrix ? ‘

156 20 16)
17 16 18|?
(12 19 X )

(A) 20

(B) 21

(C) 22

(D) 23

In a certain code “MATHE-
MATICS” is written as “MAEMICS-
THAT”, How is “PHYSICS"” written
in that code ? |

(A) PHICYSS
(B) PHICSYS
(C) PHIYCSS
(D) PHYICSS

Nisha walks 25 metres towards west,
then turns to her right and walks
15 metres and turns to her left and
walks 12 metres. Again turning to
her left, she walks 15 metres. What
is the shortest distance between her
starting point and the present
position 7

(A) 10 metres

(B) 37 metres

(C) 14 metres

(D) 16 metres
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Directions (for Q. Nos. 74 to 78) :

74.

75.

76.

Given the following information.
Answer the problems:

A - B : A is father of B.
A + B : A is daughter of B.
A + B: A is son of B.
AxB:AiswifeofB.

How is P related to T in the
expression ‘P + S - T ?

(A) sister
(B) wife

(C) son

(D) daughter

In the expression ‘P x Q — T, how
is T related to P ?

(A) daughter
(B) son
(C) mother

" (D) father-in-law

Which one of the following means
T is wife of P ?

A PxS+T
(B) P+SxT
CP-8S=+T
D) P+T=+8S
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71. Freifatas AEp i X FAAFE ?

72.

73.

15 20 16)
17 16 18 )
12 19 X,

(A) 20

(B) 21

(C) 22

(D) 23

T ffysa Fg 4 “MATHEMATICS”
F“MAEMICSTHAT" foman man 2 1 2t
1z § “PHYSICS” %1 71 ferdh 2

(A) PHICYSS
(B) PHICSYS
(C) PHIYCSS
(D) PHYICSS

forgm ufesm =1 iR 25 Hiet wordt &
a% g AR gHT 15 Hizx 9edl ¥ 9%
Fram Al T gEwd 12 Hed F@d §,
fiF @% =M T qew 15 Wil ge
%1 3u= s fag oin gdnm fag &
== it =gAdE g0 = i ?

(A) 10 Hi=ZX
(B) 37 Wizt
(C) 14 =3
(D) 16 #i=X

AG : 16/PII—A
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74.

75.

76.

fadyr (Wys @6, 74 | 78) :

Frrefafiaa smert & 2naw uv wsl
& IO effey
A-B: A B % fi %
A+B:A B = ot ¥
A=B:A B @& 4%

A x B: A, B & gt ¥

seafm P+ S-THPH TR

(D) A
aFfefEm PxQ-T H, T, P 3]
gfsEm § 2

(A) 9=
(B) 4=
(C) W
(D) J9

= fo @ fawed § 4 38 fasey
FAd T fF T, P #H OISR ?

(A PxS =+ T
B P+SxT
C)P-8S=T
Dy P+T+8S
P.T.O.
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77.

78.

79.

80.

Which of the following means P is
maternal grandson of S 7

(A) P+Q-S
(B) P+Qx3S
(C) P=Q+ S
D) PxQ + S

In the expression ‘P + Q x T, how
is T related to P ?

(A) Mother

(B) Father

(C) Son

(D} Brother

If P means x, Q means +, R means
+ and § means -, then what
is the wvalue of
‘154Q14S7P3R25 ?

(A) 15
(B) 25
(C) 35
(D) 42

If 1st January, 2004 is Thursday,
then 31st December, 2005 will
be :

(A) Monday
(B) Tuesday
(C) Friday

(D) Saturday

expression

AG : 16/P/11—A
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81.

82.

83.

What is the value of B in the series
0, 2, 6, 12, B, 30, 42 ?

(A) 16

(B) 20

(C) 24

(D) 28

Coherent : Consistent :: Irate : ?
(A) Angry

(B) Unreasonable

(C) Unhappy

(D) Irritated

Statements :

Some pictures are frames.

Some frames are idols.

All idols are curtains.

Conclusion :

(D

(I1) Some curtains are frames.

Some curtains are pictures.

(ITH Some idols are frames.

(A) Only (I) and (II) follow
(B) Only (II) and (1I1) follow
(C) Only (I) and (I1I) follow
(D) All (I), (OI) and (III) follow

In which of the following letter
sequences, two letters in the
alphabet are skipped after an odd
position and three letters are skipped
after an even position 7

(A) DGKNRU
(B) EILPSW
(C) KNRVYC
(D) LPSWZC

Court esy: HPPSC


http://iasexamportal.com/civilservices/
http://iasexamportal.com/civilservices/

DOMNLOADED FROM : WAW | ASEXAMPORTAL. CQOV

77. <A &2 ) fawed § | w98 Gwes

78.

79.

80.

AG ¢

FadEfHE P,SH G E ?
(A) P+Q-S8
(B) P+Qx8S
(C) P+Q+ S
D)y PxQ <+ S

Ay P+ QxT AT H PR
T O E?

(A) ®rE
(B) fya
(C) 9=
(D) wiré

Ifg P & TOae| x, Q &1 7ad| =, R
w1 W9 + 20 S & qaoid —, 749 ek
“154Q14S7P3R25 &1 | =1 & ?

(A) 15
(B) 25
(C) 35
(D) 42

#fg 1 sHadt 2004 F) FER T, 94 31
fegear, 2005 %1 w=aE faw @ 7

(A) HHaER
(B) #meEn
(C) ¥[&aR

(D) wifqamr
16/P/IT—A
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81.

82.

84,

guit 0, 2, 6, 12, B, 30, 42 ¥ B =
O R ?

(A) 16

(B) 20

(C) 24

(D) 28

qogq ; fafma o 9s  ?
(A) TE '

(B) 3TaTT0

(C) g@t

(D) fazfam

®g9 :

= faa wa #)

T BH G4 T

Tt qa 9 #)

frepd -

(D =*Hw g a7 7

(I) HT W2 B7

(II)=2 44 BH &)

(A) Faa (1) 3iz (1) SEn

(B) #&am (1) 3/ (1) 3w
(C) =aa (1) 3R (A1)
(D) = (1), (1) 3T (II) 3
=1 | § form sa e | faum w=E
B M g1 e I WH EWE B HM
W R oreae fed@ ™ ¥ 7

(A) DGKNRU

(B) EILPSW

(C) KNRVYC

(D) LPSWZC
) 2 o o
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85. In a group of intellectuals, A is the

86.

set of scientists, B is the set of writers
and C is the set of those intellectuals
who drink coffee. A, B and C are
given by the following Venn-
diagram. Which one of the
conclusions is not correct 7

O

(A) All scientists drink coffee

(B) All writers who drink coffee are
scientists

(C) Some writers do not drink coffee

(D) Some scientists are not writers

Consider the statements :

(A) The metallic frame of a cycle
rickshaw is made of hollow
shafts.

(R) A hollow shaft is stronger
than solid shaft of the same

~ mass.

Then :

(A) Both (A) and (R) are true and
(R) is the correct explanation for
(A)

(B) Both (A) and (R) are true but
(R) is not the correct
explanation of (A)

(C) (A) is true but (R) is not

(D) Both (A) and (R) are false

AG : 16/P/1I—A
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@
®
o

87.

v
W

&

&

\J

L

m

v

&l

(1)

(2)

(3)

(4)

(5)

Which figure comes next in the
above series 7

(1) (2) (3)° (4)
Figure 4 is related to figure 3 in the
same manner figure 2 is related to
figure 1. Which figure should appear

in box 3 ?
(C) (D)

(A) (B)
89. How many rectangles are there in
the following figure ?

>

(B) 8

(A) 9 (C) 6 (D) 5
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85. #isshfadi & v wqg 7 A aanfwai 3
B Sl F1 = £ 4fe C it S
91 a1 HeEg @ 3N A, B 991 C

=1 g Ty frs st | fam

&, o =y S frerd wdt 98 § 2

»

(A) |91 A=t wrer da ¥

(B) Gt wiwt 9 =& erags aafs
(C) #® J@% FHMAl T8 uid

(D) wp dwtm s T §

= wyAl & snar W, FaE fawew
wE ¥ ?

(A) Taen =1 urg +1 B @rge 98
F == B

@l B2 39 FEEE gl o
og | wAfuw Hoea B ¥
a4

(A)

86.

(R)

(A) 37 (R) 2 &9 ¥ 3 (R),
(A) & fomm wft =men 2

(A) 3T (R) a1 51 % @A (R),
(A) ® fau udt =men =34 %
(A) ¥ & @fea (R) =&

(A) @ (R) =rt smacg ¥

(B)

(C)
(D)

AG : 16/P1TI—A

DOMNLOADED FROM : WAW | ASEXAMPORTAL. CQOV

35

® [V v A ~
= UL A @l jn v
(O] L \J (o) [0
(1) (2) (3) (4) 5)
T it w1 seren g Fee fas a2

m

87. ®

A

v
(D)

X

(1) (2) (3) (4)
o= 4, fax 3 & 34t wenr Fafya & 5w
wer fax 2, fax 1 A Hafim &) s@9
3 # wma o smdm ?

D||D||&D

(A) (B) (C)
g9. fr=t faz o %@ fFay agm § 2

%

[

(A)9 (B8 (6 (D5

P.T.O.
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90. 91. A square shaped paper is fold and

cut as shown in the following

figure. Which of the given options

Which of the figures below is the resembles most the unfolded

mirror image of above clock 7
one 7

(A)

ra -

/l<) . (o)

(A) |©
(B)

(B) ] o ©

(C)

(C) | ©

(D)

(D)

0
o]
)
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91. T!E.'HTI'ILET! wrTE w1 AT o i

I OrzZ 7w T B A T fawe

4 J FAm fasen e F : =\ed
fo o |/ Fwdr 2fa sur 4w st

=1 wfatam & 7 % =g are fufa o & 2
(A) p. A : o
& 9
@ |e°
(B) o®
(B) o o
o o

(C)

C) | @

(D) (D)

F o
5 O
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The following graph displays the consumption of two different chemicals A and B
in a pharmaceutical industry. Answer question Nos. 92-96 by studying the graph

1 ® . Chemical A
A J Chemical B
=2
S B0 =mm e e
5
s T B I et =
i | 1
5 - .
i S R e acs 73 ot & R
8 : |
- i VRiaags oiat s AR S .o T
§ - | El :
s A ST ———
s i 1 | ' |
§ o descado sy B s bl L 2
: S | : \ | : |
1 ! l 1 1 >
L} Al 1 1 1 -
2012 2013 2014 2015 2016
Year ——»
92. In which year the consumption of | g4 At what percentage the consump-
B has reduced from the previous
l’
s tion of A has decreased in 2016
(A) 2012
(B) 2013 compared to 2015 ?
(C) 2014
(D) 2015 ; (A) 20%
93. In how many years consumption of
B has been below the consumption
of A ? (B) 40%
(A) 1
(B) 2 (C) 33%
(C) 3
(D) 4 (D) 30%
AG : 16/P/11—A 38
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A e Senfas § uw g@ F9H # RTE & A WEE A 9 B F @y geiE
= ¥ W HATA FTh WA H. 92-96 & I e

i o WIA
@R B
o~ 30— --------------------------------
e
E 25-t-—--tro----mmmm o =
]
]
® ol b, et o>
A ] I | |
Ji 1 I I |
g 15=--- R R S S IR T e e i =
:: ] | | ]
g 1) R SPOPRCEPR. ¥ R e una) s ..
| ) | ] ]
| | | ] ]
5 t-———ge—mmm—— qem————— b =———— -
| 1 1 ] 1
] ] 1 ] |
: : % : —
2012 2013 2014 2015 2016

92. fww =d # fuud ad %1 go § WA

B & @a 94 & ?

T ——s

94. 2016 # 2015 =1 g1 # A H @Iq

e S  fom v @ wH o 2
(B) 2013 |
(C) 2014 (A) 20%
(D) 2015

93. fea7 adl § B =+ @9d A &1 @79 ¥ (B) 40%
FH W T 7
&y (C) 33%
(B) 2
C) 3
© (D) 30%
(D) 4

AG : 16/P/1T—A
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95. In which year had the combined

consumption of A and B been

minimal ?

(A) 2012

(B) 2013

(C) 2014

(D) 2016

5

96, From which year to which year the

consumption of B did not observe a

descent ?

(A) 2012-2016‘
(B) 2012-2015
(C) 2013-2016

(D) 2012-2014

The following bar diagram displays import of fabric and export of dress material

of a company. Answer the question Nos. 97-100 by studying the diagram :

4\

—> [mport

| — Export

£ 304
e
5 95+
g 20T /
£ ?
;g: 151 / = —
116 | B
7 2 s
ZBNENZ
4 7 %5
2012 2013 2014 2015
AG : 16/PNI1—A 40 :
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95'.:mau@fﬁ,xamzneﬁiwmﬁiaﬁ 06, farm ad @ fFw o 7w B W frEz
fyerrst @ya gaad @ ? # o wdl e e ?
(A) 2012 (A) 2012-2016
(B) 2013 (B) 2012-2015
(C) 2014 (C) 2013-2016
(D) 2016 (D) 2012-2014

2 fem Ty WorE TEW SO B oUW $ o o ®wus & fralm o mwia

2| TaF I FI 99T F. 97-100 F FIW Fw

—> HAHEG
il Z e
v:'»
E 254
o904
E 7
154 P — -
7 7z =
104 / .~ g
i Z =
111G | B
£ 5% [ 2
2012 2013 2014 2015
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97. In which year company did not make

any profit or loss ?

(A) 2012

(B) 2013

(C) 2014

(D) 2015

98. Which vear was the worst for dress

material business ?

(A) 2012

(B) 2013

(C) 2014

(D) 2015

AG : 16/P/TI—A
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99. What was the maximum percentage

100.

profit of the company
(A) .100%
(B) 200%
(C) 50%

(D) 13.3%

7

The maximum sale amount of the

dress material is :

(A) 10 million rupees
@) 15 million rupees
(C) 20 million rupees

(D) 25 million rupees
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97. fag ad =wfl F1 F8 ft a9 W W | 99, werh w1 wfumwon wfawe ey e

78 ;' ?

oq ?

(A) 2012 (A) 100%
(B) 2013

(B) 200%
(C) 2014

(C) 50%
(D) 2015

(D) 13.3%

08. FW 9 HI2 F NN =+ A0 TAH
100. F92 # Hfyway fawa ofo ¢

0 91 ?
(A) 1 HO% TIg
(A) 2012
(B) 1.5 0% 13
(B) 2013
(C) 2014 (C) 2 F5 T
(D) 2015 ‘ D) 2.5 FIZ T9Y
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